ELECTRONS IN ATOMS REDEMPTION

5.1 P127 in your text book
1. Why did Rutherford’s model need to be replaced?
2. What was the basic new proposal in the Bohr model of the atom?
3. What does the quantum mechanical model determine about electrons in atoms?

4. How can electrons in an atom move from one energy to another?
5.3 P138 in your text book
5.  How are wavelength and frequency related?

6. Draw and label the electromagnetic spectrum below:


7. Describe the cause of atomic emission spectrum of an element.

8.  Arrange the following in order of decreasing energy:

a. Infrared radiation from a heat lamp

b. Dental X-rays

c. Signal from a shortwave radio


9. Examine the Bohr Model in Figure 1. 


Place a “G” in the box that points to the

 
“Ground State” electron orbit.


Place an “E” in the box that points to the


 “Excited State” electron orbit.


How is the “excited state” different from the


“ground state?” _____________________________________________________________________________






10. Study Figures 2A and 2B.


In which figure is energy absorbed?   A  or  B

How do you know? __________________________________________________________________________


In which figure is energy released?   A  or  B

How do you know? __________________________________________________________________________


Which figure shows a photon of the greatest energy?   A  or  B

How do you know? __________________________________________________________________________

11.  Picture 2 hydrogen atoms.  The electron in the first hydrogen atom is in the n = 1 level.  The electron in the second atom is in the n = 4 level.  
a. Which atom has the ground state electron configuration?

______________
b. Which atom can emit electromagnetic radiation (light)?

______________
c. Which atom has lower energy?




______________
12. HONORS.  Calculate the wavelength of radiation with a frequency of 1.50 x 1013 Hz.  Does this radiation have a longer or shorter wavelength than red light? (You will need the diagram on P139).
13. HONORS.  Calculate the frequency of radiation with a wavelength of 5.00 x 10-8 m.  In what region of the electromagnetic spectrum is this radiation?

14. HONORS.  What is the approximate energy of a photon having a frequency of 4 [image: image1.png]
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 Hz? 
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Figure 2 B:


electron move from low to high orbit
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Figure 2 A:


electron move from high to low orbit
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